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SSC CGL 2023 - YT SCHEDULE A

A

GAURAV CHAUDHARY 2k DAILY CURRENT AFFAIRS o 6:30 TO 8 AM

BRIJENDRA SINGH SIR . REASONING 8 TO 9 AM

Y ' \\\ \' > bl
MANOJ MISHRA SIR 9 9TO 10 AM

DILAWAR SINGH PARIHAR SCIENCE 0 10TO 11 AM

NANDINI KRISHNA MA’AM ENGLISH Q MTO 12 PM




' ARITHMETIC :-

SYLLABUS :-

1.PERCENTAGE (WTdr=readn)
2.PROFIT AND LOSS (@TH 3iX 81f)

3.DISCOUNT (Q¢)

4.RATIO-PROPORTION (3UTd -HHTUTd)
5.PARTNERSHIP (TTSIGR)

6.MIXTURE AND ALLIGATION (f3rgrom)
7.AVERAGE (31194
8.AGE (3T)
9.SIMPLE INTEREST (HTH[IRUT SAT)
10. COMPOUND INTEREST (U5 g &dTel)
11.TIME AND WORK (WHT 3R a"%

)

12. PIPE AND CISTERN (UT2U 3R



ADVANCE :--

13.
14.
15.
16.
17.
18.
19.

O bHs WNR

TIME , SPEED AND DISTANCE (993, TIfd 3R g

TRAIN (YEITTSI)

BOAT AND STREAM (AITd 3R HRT) |
ARITHMETIC NUMBER SYSTEM (3@ ITIOTd TSAT WUTTel)
DATA INTERPRETATION (3fT®&T fAdda=)

. QUADRATIC EQUATION ( Ui
. TRIGONOMETRY ( )

. GEOMETRY (SITfHTe)
. CO-ORDINATE GEOMETRY (fFe2rie warafa)

. MENSURATION (&=f#fa)



ARITHMETIC MATHS PO
CPO

Number system/dIT USid 4Q 3Q

Simplification/IRATHRT 2Q 1Q

HCF & LCM/ HWguH JHIad® dgad| 1Q 1Q

LRI ERED

Percentage/ﬂﬁmﬁ [3-4]Q 2Q
Profit and Loss/@TH 3fiX T 3Q 2Q
Mixture & Alligation/fHUT 1Q 1Q
Ratio and Proportion/3Uld HHIHUId | 3Q 2Q
Simple interest /HTYIRUT TS 1Q 1Q
Compound interest / gl SITol 2Q 1Q




ARITHMETIC MATHS PO
CPO

Time and Work/SHY 3R ®14 3Q 1Q
Pipes and Cistern/UIg4 3R TP 1Q 1Q
Averagels’oﬁ'\‘lﬁ 2Q 1Q
Age/SiTq 1Q 0O0R1Q
Partnership/ATgiGRI 1Q 0OR1Q
Train/c+ 1Q 1Q
Boat and Stream/ ATd 3R YRT 1Q 1Q
Time, Speed, Distance/dHY, dic] g‘& 2Q 2Q
Date Interpretation/ m fazeryor 7Q 4Q




ADVANCE MATHS CPO
Algebra/ SISO 3Q 3Q
Trigonometry/ @10 AT 3Q 3Q
Height and Distance/ TS 3R {wﬁ 1Q OOR1
Geometry/ ST 4Q 3Q
Mensuration/& 0 4-6 Q 1-2Q
Quadratic equation/ fgaTa FHIHIUI 1Q 0 OR 1Q
Co-ordinate Geometry/ He=Ii® WAl | 1q 0 OR 1Q




FORMULA FREE TECHNIQUE

:

2. EXAM ORIENTED CONTENT

3. FREE PDF NOTES + E-BOOKS

4. LATEST AND UPDATED CONTENT
5. COVER ALL EXAM PATTERN
6.
y ¢
8.
9.

MY STRATEGY -

THOUGHT PROCESS
OPTION METHOD
CALCULATION MANTRA

STRONG YOUR BASIC CONCEPT

10. COMPLETE GUIDANCE
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1. PERCENTAGE AND FRACTION(WTa=rd 3R fare )

2. BASIC QUESTIONS(ITHYTRUT ¥ )

3. A X B = C(CONSTANT) TYPE QUESTIONS

4. A X B = C(CHANGE) TYPE QUESTIONS

5. LESS OR MORE QUANTITY (PH 31X 3ifte |3

6. EXAM RELATED QUESTIONS (URT&IT UR JTUTRT UH)

7. POPULATION BASED QUESTIONS(STHEEIT UR STYUTIRT UH)
8. INCOME- EXPENDITURE BASED QUESTIONS (3ITd 09 UR U¥)
9. ELECTION BASED QUESTIONS(TTd JTHTR W)

10. MENSURATION BASED QUESTIONS(&FTHTa u¥ memiRa vy )
11. VENN — DIAGRAM (39 3R )

12. FRESH AND DRY FRUIT (T 3R a1l % )

13. INCOME TAX BASED QUESTIONS (3ITI& UR TYUTIRT U )
14. COMMISSION BASED QUESTIONS (PHIRI U STYUTIRT U )
15. NUMBER BASED QUESTIONS (H&IT UR JTUTRT UY)



PERCENTAGE




Fraction Percent Fraction Percent
1 100%

1/2 50 % 1/11 9 ﬁ % or 9.09%
1/3 33%% /33.33% |

1
e — 1/12 8 > % or 8.33%

1/5 20 %

9
1/13 a8 .
/ 713 % or 7.69

16%% /16.66 % 1
1/14 7 ; % or 7.14%
1472% /14.28%

12.5 %
11 %% /11.11 %

10 %




MOTIVATION LINE
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MATHS BY — MANOJ MISHRA SIR Addal247

A's income is 60% more than income
of B. Income of B is how much
percent less than income of A?

A B ATT B Bt 3ATT | 60% AP 71
B & AT A &t AT ¥ fba ufa=a
& 77

(a) 47.7% (BY 37.5%

(c) 33.3% (d) 45%

SSC CPO SI 2020 (PRE)




MATHS BY — MANOJ MISHRA SIR Addal247

A's income is 60% more than income
of B. Income of B is how much

percent less than income of A?
A P! 3T B B T & 60% AP T
B &I 3TT A & 319 A foaa ufawa

Y 272
(a) 47.7% (b1 37.5%
(c) 33.3% (d) 45%

SSC CPO SI 2020 (PRE)



MATHS BY — MANOJ MISHRA SIR Addal247

YAl A's income is 60% less than income of

A B B. Income of B is how much percent
more than income of A?
6o/ | 150/ ]| | A ¥} 31T B B 31T /A 60% FH B B
@t AT | ﬁ»—cr-"f uﬁrm

3 l 3 T “$57150% (b) 80%
(c) 120% (d) 40%

SSC CGL MAINS 2019



MATHS BY — MANOJ MISHRA SIR Addai247

If P is 50% more than Q, Q is how
much percent less than P?

gfe P, QU 50% 3RF 8 alqQ P
faT uiawa &9 2

(a) 50% (b) 100%

(c) 66.66% J#33.33%




MATHS BY — MANOJ MISHRA SIR Addal247

,R. +a Picha "M Rita's income is 15% less than Richa's
| \ income. By what percent is Richa's

S iy L

1s uﬁma Iftre 22
= §9L/T 11
=/ (a) 155 175 17 %
. . (c) 16 % (d) 14 =%
159—0- = CHSL 15/10/2020 (Evening)




MATHS BY — MANOJ MISHRA SIR Addal247

3 By what percent the new price of the

\]/ s/

article must be increased to restore its
former value, if the cost of the article is
cut by 25% in the past?

d yd # 25%
;:%ﬁa%n‘é a’ta'@%qqlgum

mﬁ’—cﬁ t;rﬁma d® @1 gfs DI
(a) 345% N1 3329
(c) 33% (d) 34%

SSC CHSL 25/05/2022 (Shift-1)



Ml If the price of petrol is increased by 28%, by
what percentage should the consumption be
decreased by the consumer, if the expenditure

on petrol remains unchanged? (Correct to 2

decimal places) 3_& = %T
gfg UZiel @i ahidd ﬁEF‘thE[ﬁg giat &, @l
ITNTST g7 @ud ° feras ufavra &t ot & St

g, afg U2ter uv =99 arufiafaa 1Ear &2

T E; —8—/ (2 IITHAE T dh WEl)
as 38 SSC CGL 06/12/2022 (Shift- 03)
= 31.88/ (a) 12.35% > 21.88%

(c) 20.25% (d) 25.75%



MATHS BY — MANOJ MISHRA SIR Addal247

If the price of rice is raised by 20%, then by

. what percentage should a person reduce his

PT consumption of rice so that his expenditure
remains the same? (correct to one decimal

o7 667 g.lf%ce) - 3 P
97dd $1 HIHT H 20%
Us ofed &I 919d Ht @ud | f%»—d%

=1 e 1 e el ailin e o
@d Uga foraar 81 38?2 (@uHad & 91¢ U

R dPIG)
(a) 14.7% (b) 18.7%

\eF16.7% (d) 12.7%

SSC CHSL 26/05/2022 (Shift-3)




MATHS BY — MANOJ MISHRA SIR Addal247

.3l If the price of salt decreases by 20%, then
C . by what percentage should consumption be
P on increased to keep the expenditure same?

lao/ afg U &1 goF 20% A F ATGT &, A =S @l

T T@q & fou @ua o fead wfava =t afg

1o e
l 1 A T SSC CGL 03/12/2022 (Shift- 03)
S G (a) 26% (b) 27%
(d) 24%
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Adda247

_50/. + S50/ Bl A person's salary was decreased by

50% and subsequently increased by

u 50%. By what much per cent does his
salary increase or decrease?

_ TP Afgd & ddd H 50% DI HHI Bt
e e > ot T 3 sox L 3t oA
- -§°/+7/‘"———”ﬁ¢’;s a1 ot BE &2

(a) Decrease 18% (Eﬂ ﬂﬂﬂ)

(b) Increase 15% (Hﬁ
- M (¢) Increase 20% (Eﬂ
) Decrease 25% (aﬁ

SSC CGL 21.04.2022 (1st Shift)
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3 X's salary is increased by 20% and then
decreased by 20%. What is the change in
salary?

X & da9 & 20% DI CARSIGIR
A BT 20% F1 FHT F St 21 a4
# a1 ufads gem &2

4% Decrease (b) 4% Increase
(c) 2% Decrease (d) 2% Increase

SSC CHSL 26/05/2022 (Shift - 1)




MATHS BY — MANOJ MISHRA SIR Addal247

2 The price of Rafale first increased by
16%% and there after decreased by

7-;%. What was the change in total
price.

Trﬁmaﬂaﬂwaﬁqgﬁ 16-% B IS

IR ISP qI1g 7-% BI aﬂﬂ g3l o
aﬂw{ & T 9gad ol

(a) 8- - % increase (b) 8%% decrease
(c) None of these (d) No Change



MATHS BY — MANOJ MISHRA SIR Adda247

3 When the price of a watch was reduced

ﬁ'g{a' X qjqam‘ — ﬁ?,ﬁ by 20%, the number of watches sold is
i l increased by 40%. What was the effect

— o/ +4o0/

on the sales in percentage?

g UH YS! Pl HIHd H 20% DI HHI
®I STt g, df 991 7§ ufeal S = |
40% P gl gidl 81 wiawa # fas w?
HT UHId UsST?

/] — -90+4 -&fxf} N 12% | (b) 30% Decrease
Net / 20 ° \ @P (c) 12% l;ec:f:assee (d) 30% Increase

= §o-8 SSC CHSL 30/05/2022 (Shift-3)




MATHS BY — MANOJ MISHRA SIR Adda247

I8 The price of a machine got depreciated

T I
-1 1
% X
4 F
4 1
-3
C 21y %.xwo

by 50% in the 1st year, 33%% in the 2nd

year and 25% in the 3rd year. Overall, by
how much has the machine depreciated?

TP HXH P $Hd Tgd 94 G0%) g
qd 3319 SR drev af 25% &7 @
TR Ppa_fhaey A= @t siug |

faa HHt 3t 2 Sof = m
(a) 66 % (b) 80% |33%/ = =

715%



MATHS BY — MANOJ MISHRA SIR +| Addae47

T T 1M A number is first\increased by 40% and
2 then decreased by 25%, again increased
2) :l by 15% and then decreased by 20%.
X 3 What is the net increase decrease per
cent in the 1gumber ! =z q@ g{ 5
Q3 Ud I # Ugd 40%
L aﬁvﬁmzm #1 o g%, Y A 15%
5 # q@ g% 3R fhe 20% @t ot g8
H $d gis a1 FHI & Ufa=d &1
560 48 qrd ﬁl
S S (a) 7.2% increase (b) 3.4% increase
96 & (c) 6.4% increase \(,cl')/3 4% decrease
|00 \_ / | SSC CPO 2019 24/11/2020 (Evening)



MATHS BY — MANOJ MISHRA SIR Adda247

I A number is decreased by 30%, then
increased by 30%, then further
decreased by 10%. What is the net
increase/decrease percent in the number

(correct to the nearest integer) ?
& & 30% $H BT 9T &TaT 2

30% del feur &rar 8 3R sHs

'q'ragr-r: 10% $H H fear Srar g

tmhs

muﬁmfmﬁ(ﬁaﬁr«m

(a) 18% increase (b) 19% decrease
(c) 19% increase (d) 18% decrease

SSC CHSL 4 July 2019 (Evening)



MATHS BY — MANOJ MISHRA SIR Adda247

I8 A person's salary was decreased by 50%
and subsequently increased by 50% and
then again increased by 100%. How much
percentage does he lose or gain?

U® fad & ddd | 50% P HHI DI T
IR TIg_#H SO%HﬁQ@%&ﬁ?fﬁﬂ
100% @t gfs 831 9 P IGRIG]

g9 I1 1Y BT &7
(a) Loss of 40% (b) Gain of 50%
(c) Gain of 25% (d) Loss of 10%

SSC CGL 12.04.2022 (3rd Shift)
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IV When the price of an item was
reduced by 25%, then its sale was
increased by x%. If there is an
increase of 20% in the receipt of the
revenue then the value of x will be:

aﬁaﬁaﬂmzmmaﬂ
zﬁmﬂ dat 9@t faPl x% ag

gfe amg wifd # 20% @1 gfs &% @,
dl x BT |19 HT BI?
(a) 50 (b) 60
(c) 45 (d) 75

SSC CGL Tier-ll (11 September 2019)
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1.3 The price of a scooter increases successively
byl1l0%, 5% and 15%. What is the total
percentage increase in price of scooter?

Ush WhHet! & Yod U whideh dlT 9T 10%, 5% 3T
15% @i glg Brdl &1 THet i Hitdd H & fohad
ufavra =t gfg €& B

SC CGL 01/12/2022 (Shift- 02)

33 21
a) 32— % b —
‘ ) 40 o ( ) 34 40 Yo

(c) 3010, (d) 3619,
40 40
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